

$$\log_{mn}^r n = \frac{\log_n^r n}{\log_n^r mn} = \frac{r \log_n^r n + 1}{\log_n^r n + 1} = \frac{ra + 1}{a + 1} = 1 + \frac{a}{a + 1} \rightarrow < 0$$

$$\Rightarrow [\log_{mn}^r n] = \textcircled{1}^*$$

الف $y = \sqrt{\frac{x}{\log \frac{x}{1}}}$

$\frac{x}{\log \frac{x}{1}} \neq 0 \rightarrow x > 0$
 $\log \frac{x}{1} \neq 0 \rightarrow x > 0 \text{ (I)}$

$\log \frac{x}{1} > 0 \Rightarrow \log \frac{x}{1} \neq 0 \Rightarrow x \neq 1$

$\log \frac{x}{1} > 0 \Rightarrow \log \frac{x}{1} < 1 \Rightarrow x < 1$

$$x^r - x - r > 0 \Rightarrow \begin{matrix} -1 & r \\ + & | & - & + \end{matrix}$$

$$(I) \text{ then } (-\infty, -1) \cup (1, \infty) \quad (*)$$

$$r \log_a a^r + \log_a a = r \left\{ \frac{\log a^r}{r} + \frac{1}{\log a} \right\} t \quad t + \frac{1}{t} = r \Rightarrow t^2 - rt + 1 = 0$$

$$\Rightarrow \log_a a^r = 1 \Rightarrow \boxed{a = r}$$

$$\begin{aligned} & \left(\log \frac{a}{b} \right) x^p + \left(\log \frac{c}{d} \right) x - \log 10 = 0 \Rightarrow \frac{p}{1} x^p + \frac{1}{1} x - 1/1 \\ & \left(\log \frac{a}{10} - \log \frac{b}{10} \right) + \log \frac{c}{d} + \log \frac{e}{f} \rightarrow 0/1 \\ & \left(\log \frac{10}{10} - \log \frac{1}{10} \right) = 1 - 0/1 - 1 = \left(\frac{p}{1} \right) \\ & \log \frac{1}{10} + \log \frac{10}{10} - \log \frac{1}{10} \\ & 1/1 - 1 = 1/1 \end{aligned}$$

$$\log_2 \frac{1}{10} \xrightarrow{\log_2 10} \frac{1}{\log_2 10} \xrightarrow{\log_2 10} \frac{\log_{10} 10}{\log_2 10} = \frac{\log_{10} 10 + 1}{\log_2 10 + 1} \rightarrow \frac{1}{\log_{10} 10} = \frac{1}{1} = 1 \quad (\text{سوال 2})$$

$$\frac{10}{19} = 6 \approx 14 \text{ V}$$

$$\log_{10} 4 = \frac{\log 4}{\log 10} = \frac{1 + \log 4}{1 + \log 10} \xrightarrow{\frac{1}{4}} = \frac{\frac{1}{4}}{\frac{1}{10}} = \frac{10}{4} = \frac{5}{2} = 2.5 \quad \star \text{ (Soln)}$$

$\log \frac{1}{\lambda} = m \quad \log \frac{1}{\lambda} = \frac{1}{\lambda} \log \frac{1}{\lambda} = \frac{1}{\lambda} (1 + \log \frac{1}{\lambda})$

$\log \frac{1}{\lambda} = \frac{1 + \log \frac{1}{\lambda}}{\lambda} = m \Rightarrow \frac{m-1}{\lambda} = \log \frac{1}{\lambda}$

$\frac{1}{\lambda} (1 + \frac{m-1}{\lambda}) = 1 + \frac{m-1}{\lambda}$

$\frac{m+1}{\lambda}$

سوال (10)

$(0.1)^{2n-1} = \left(\frac{1}{10}\right)^{2n-1} \Rightarrow \frac{1}{10} \times 1 \dots \Rightarrow \frac{(2n-1)(-2n+1)}{10} = \frac{(2n)^2}{10} \times \frac{(-2n)^2}{10}$

$-2n+1 = 2n^2$, $2n-1 = -2n^2$, $2n^2 + 2n - 1 = 0$

$\log \frac{1}{\lambda} = \frac{1}{\lambda}$

غلطی $n \leq 1$

چون این معادله $2n+1$ و این خبر بدیهه است!

$\log \frac{b}{a} = \frac{1}{a} \log \frac{b}{a} \Rightarrow b = a^{\frac{1}{a}}$

$\frac{1}{a} (\log \frac{b}{a}) = \frac{1}{a} \Rightarrow \frac{1}{a} (1 + \log \frac{b}{a}) \Rightarrow a = 2, b = 34$

$\log (1.1 - 1) = \frac{1}{10}$

سوال (9)

$-fa n^p + bn + \frac{1}{p}c = 0$

$\frac{-b}{-fa} = \frac{+b}{fa} = \frac{1}{\log \frac{1}{a}} = \log \frac{1}{a}$

$c = pa - b$, $\frac{b}{fa} = \log \frac{1}{a} \Rightarrow \frac{c}{fa} = -\log \frac{1}{a} + \frac{1}{p} \Rightarrow \frac{c}{a} = f(-\log \frac{1}{a} + \frac{1}{p})$

$\frac{1}{a} \log \frac{1}{a} = -\frac{1}{a}$

$\left(\frac{1}{a}\right)^{\frac{1}{p}} = \frac{1}{a} = \sqrt[p]{a}$

سوال (16)

این $\frac{b}{fa}$ و $\frac{c}{fa}$ را از کلمه $\frac{b}{fa}$ و $\frac{c}{fa}$ استفاده کنیم

در این مسئله اگر $\frac{b}{fa}$ را از کلمه $\frac{b}{fa}$ استفاده کنیم

در صورت سوال $\frac{b}{fa}$ را از کلمه $\frac{b}{fa}$ استفاده کنیم